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1- one of these means “around”:

a) Circum
b) Stomy
c) Tomy
d) peri
2- One of Alzheimer symptomes:

a)

b)

c)

d)

e) memory loss, apathy, and dementia.
3- sudden, convulsions??

4- child born without brain?

a)
b)
c)
d)
e) anencephaly
5-tumor in the surrounding of the spinal cord and the brain:

a)
b)
c)
d)
e) meningioma




6-Which of the following describes a condition of excessive
cerebrospinal fluid (CSF)in the brain:

a- Spina bifida

b- Reye syndrome.

c- Hydrocephalus

7- high CSF volume in brain ventricles Reye syndrome:
**Hydrocephalus

Hydrocele

8- the nerve that responsible in the sensory and motor activity of the
tongue:

a)
b)
c)
d)
e) Hypoglossal & Facial & Glossopharngeal

9- the drug that stop vomiting ( blocking nerve impulses):
Antiemetic
10- treating the constipation by increasing peristaltic activity
a)
b)
c)
d)

e) Laxatives
11- picture of the stomach and detect the lesser curvature .???




12- the esophagus:

a)

b)

c)

d)

e) Transfer food and water to the stomach
13- stomach pain means:

a)
b)
c)
d)
e) gastralgia
14- the first part of the small intestine:

a) Jejunum

b) lleum

c) Sigmoid colon

d)

e) Duodenum
15- intra means:

a)
b)
c)
d)
e) Within
16- the gland that control the temperature, appetite:

a)
b)




c)
d)
e) ** hypothalamus??
17- hormone stimulate growth, hormone inhibit growth, respectively

a)
b)
c)
d)
e) GHRH, somatostatin

18- hormone control urine concentration:

a)
b)
c)
d)
e) ADH
19- gland that secrete its contents in duct:

a)
b)
c)
d)
e) Exocrine
20- true about the pancreas:

a)
b)
c)
d)
e) tumor in the pancreas with high insulin called is called insulinoma




21- part of the brain, responsible of movement and personality:

a)
b)
c)
d)
e) frontal lobe
22- plane that cut the body into two equal parts:

a)

b)

c)

d)

e) Sagittal plane
23- and/o:

a) Root word female
b) Root word male
c)
d)
e) combining form means male
24- benign tumor, high heart rate and weight loss:

a)
b)
c)
d)
e) Thyrotoxicosis

25- Suffix means surgical cutting

a) Tomy
b) Ectomy




c) Stomy
26-fatty cells found in:

a) Connective tissue ‘loose, adipose ’
b)Tissues line the blood vessel
c)Endothelium

27-System contain hair skin nail

a) Integumentary system
28-Farthest from origin

a) Distal
b)

29-Ears —————— to the nose
a) Lateral

b)

c)

d)

e)

30-Plane divide the body into equal halves

a) Sagittal
b)




31- ——- cavity is superior to the diaphragm

32- Combining form refer to the first part of the small intestine
a)

b)

c)

d)

e) Duodon\o

33- Instrument to examine the first part of the intestine
a)

b)

c)

d)

e) Duodenoscope

34- Medication to treat constipation




d)

e) Laxative

35- Medication to control vomiting
a)

b)

c)

d)

e) Antiemetic

36- The brain consists of cerebrum ,diencephalon, brain stem and
a)

b)

c)

d)

e) Cerebellum

37- Part of brain responsible for voluntary body movements and
balance?

a)
b)

c)




d)

e) Cerebellum

38- Damage to the optic nerve cause

a)

b)

c)

d)

e) Loss of vision

39- Part of the brain responsible for control sleep, ANC,GlI
a)

b)

c)

d)

e) Hypothulmus

40- medication used during surgical procedure
a)

b)

c)

d)

e) anesthesia

41- accumulation of CSF within brain ventricles

a)




b)
c)
d)
e) hydrocephalus

42- Brain fails to form during fetal development, baby is usually
stillborn or dies shortly after birth

a)

b)

c)

d)

e) anencephaly

43- removes part of vertebra; relieves pressure on spinal nerve
a)

b)

c)

d)

e) laminectomy

44- Two glands, one located above each kidney?
a)

b)

c)

d)




e)Adrenal

45- development of breast tissue in males?
a)

b)

c)

d)

e) gynecomastia

46- How do sex cells divide?

Meiosis

47-The tissue in which fat accumulates?
Adipose tissue.

48- The hand is to the arm?

Posterior

49- Which of the following is not described the anatomical position
correctly?

head facing to the right.
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50- gall stone in the salivary gland:
Hermon/disease correct
Gl acromegaly

Thyroxin tetany

51- Plural for word end with us

a) |

)
)

b) isec

@)

) ar
d) es
52- Which is incorrect about anatomical posture
The head hang left to the side

Peristalsis?

53- hyposecretion in adult?

a) Thyrotoxicosis

<l sall thoracic




54- Myxedema

a)

b)

c)

d)

e) Hashimoto’s disease.
55- Graves’ disease
Hypersecreation?
-Recklinghausen disease
Tetany
Panhypopituitarism
dwarfism

-master gland?

Pituitary

56- two diseases results from hyper-secretion:




d)
e) Pheochromocytoma and Recklinghausen??
57- patient with polyuria, polydipsia and normal glucose

concentration??

a)
b)
c)
d)
e) ?? Diabetes insipidus
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